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KP2000Ij 3 /7, [ &
2200 - 3000 VpRy; 2000 A avg

CASE 6T
SEI=¢
. EYEEW
L KRS
. BT EZE 3000 volts
. EA RVt
. EEER
R R P A A e (E
s | VRRM (D | VDrRM (1) | VRsm (1) .
2200 2200 2200 2400
2400 2400 2400 2600 (1) 50Hz/60zHzIF 3% % 43 JE Y5 F 40 to +125 °C.
2600 2600 2600 2800 (2) 10 msec. ik %
2800 2800 2800 3000 (3)Tj=125°C.
3000 3000 3000 3200 (4)67 %ﬁﬁi%mmkwimmﬁ . Tj=125°C.
Vi = K1) TEALVEAE I EZ;HSEEEE% di/dt HPEEIA/NIMA Fr#ERS
_ A i o di/dt 5 prifERS-
Vorw =IE iﬁﬂl%ﬁthft 397, Section5-2-2-6.52 S 4
Virsw = S 10) AN F AT AR L (2)
s , 15mA
1E W) 0 sz ) TE A2 A FEL VAL Irrm/ IDRM 120mmA 3)
s b T 2R 0 (. dv/dt (4) | 500 V/psec
% il e | ME I KE HAMYE, | AT % MF
A5 T Trav 2000 A | SINE,180° FifAT=55°C
TS T AR Itrms 3140 A
e s 10 msec (50Hz), 1E3%¥%E, 180°F
N=R vy ) s
AN H SR HR Irsw 33000 A AT, - 125 °C
Py ’t 5445000 A% | 10 msec
AR B I 500 mA | Vo =24 V;Ri= 12 ohms
YEFF IR Iy 300 mA | Vp-24V;1=25A
R 1 300 25 P I Vi 22 1.7 v | Ina=3000 A; Tj=25°C
i 1 TE (5, 6) divdt 400 aps | TEE
i 1T %(6) divdt 200 aps | B2
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F, e e R0 S 1 KP2000A= 2200~3000V i d il
s
B
I 1%
Zz B fig | BeMEA | BOE | A | AT % M
VAR T TARFE S D) 26 Pm 200 W | t,=40us
ST IR FERL T 2R Pgav) 5 W
Vp =6 V;RL =3 ohms;T; =-40 °C
300 mA | Vp =6 V;R, = 3 ohms;T; = +25
I IA Al R HL I Igr 200 mA | °C
125 mA | Vp = 6 V;RL = 3 ohms;Tj =
+125°C
Vp =6 V;Ry =3 ohms;T;=-40 °C
Vp = 6 ViR, = 3 ohms;T; = 0-
> Vo125
AR Vo | 3 v | Vo = Rated Vo R = 1000
’ ohms;
T,=+125°C
[ a EE HE Verm 5 v
FF 2% Bt ]
Zz fg | BmAME | EOE | U | T %
ITM =50 A, VD =67% VDRM
TF 3 i 1) ta 1.2 0.9 us | FIAREKMP: V=30 V; Rg = 10
ohms; t. = 0.1 ps; t, = 20 us
It >1000 A; di/dt =25 A/ps;
SN . Vr>-5V; BN dV/dt=
SHAL h Vg =- 2 ’
HRIHT] (with Ve =-5 V) fa 300 00 B 1 30V/us linear to 67% Vg ;
T;= 115 °C; Duty cycle > 0.01%
R Itv > 2000 A; di/dt = 50 Alus;
ik 32 ™ 5 Us;
}im U(EH:_‘A{}IL Irr A VR > _50 V, T]' — 125 OC
R PR PL R
Z M Fg | mME | BORME | SURME | AT % M
4 T, -40 +125 °C
fifi A7 1 5 e -40 +140 °C
G e Ro o 0.010 ocrw | LT Hl
SRR Ro (e 0.004 °crw | MLV
©HIE T P 35 kN
GiNy w 1.5 Kg

o RCRWIGHE L
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